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41,

42,

43,

44,

45,

46.

47.

48.

49,

50.

54 + 6=
b+b=

6+6=_
B0+6=__
3/6+6=__
B0+6=__
3/b+6=__
M+6=__
B0+6=__
12+6=___
S54+6=_
28+6=__
1B+6=__

6+6=_

6+6=
12 +6 =
1B+ 6=

36+6=

72+6=

Complete the 6 times table calculations as quickly and as accurately as you can
1. 6x10=__ 21, 6x10=__
2. 6x10=__ 22, 6x6=__

3. 6x2=__ 23. 6x3=__
4, 6xT=___ 24, 6x8=__

5. 6x6=___  25. 6x11=___
6. 6x8=_ 26, 6x9=__

7. 6x4=__ 27. 6x12=__
8 6x9=__ 28. 6x6=__

9. 6x12=__ 29, 6x1l=__
10. 6x3=__ 30, 6x1=__
11, 6x3=__ 31. 60+6=__
12. 6x12=__ 32, 36+6=__
13. 6x1=__ 33, 60+6=__
14. 6x7=__ 34 48+6=__
15, 6x9=__ 35. 54 +6=__
16. 6x12=__ 36 S54+6=__
17. 6x7=__ 37. 36+6=__
18, 6x2=__ 38. 54 +6=_
19, 6x11=___ 39, 66+6=__
20. 6x3=__ 40. 18+6=__

12+6=




I know mulfiplication
and division facts for
the 9 and Il times
fables

60

Complete the 9 and Il times fable calculations as quickly and as accurafely as you can.

10.

11.

12

13.

14.

15.

16.

17.

18.

19.

20.

9x11 =

11x7=

9x9=

9x9=

9x5=

l1x3=

9x 10 =

9x3=

9x5=

1l1x2=

1l1x7=

1l1x1=

11x4=

l1x5=

9x3=

9x2=

Gxl=

9x 10 =

1l1x3=

Gx8=

21,

22.

23.

24,

25.

26.

27.

28.

25

30.

31.

32,

33.

34.

35.

36.

37.

38.

39.

40.

9x1=__
9x8=_
9x6=_
9x8=_
9xd=__
9x2=__
11x9=__
9x8=__
9x1=__
11xl=__
54+9=__
2+11=
36+9=
55 + 11 =
99 + 11 =
11+11=
99 + 9 =
63+9=
44 + 11 =
132+ 11 =

27 +9=

99 + 9=

81+9=

93+ 9=

Bl+9=

Check | <@y

Check 2 qqir

Check 3 ‘Assass iﬂ'
41. 55+11=_
42, 90+9=__
43. 90+9=__
44, 18+9=_
45, 99+11=__
46. 45+9=__
47. 72+9=___
48. 55+11=__
49, 0+9=___
50.
51.
52,
53.
54.
55. 45+9=_
56. 45+9=__
57. 88+11=__
58. 66+11=__
59. 18+9=___
60.

108 - 9=




I know multiplication
and division facts
for the 7 fimes table

Check |
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Complete the 7 times table calculations as quickly and as accurately as you can

1.

2.

10.

11.

12

13.

14.

15.

16.

17.

18.

19.

20.

Tx9=

Tx1l=

Tx 8=

Tx 3=

Txl=

TXxb=

7Tx11l=

7x10=

Tx 8=

Tx1l=

Tx12 =

Txb=

TxT =

Tx3=

Tx7=

Tx3=

Txd=

Txb=

Tx9=

Tx11l=

21.

22,

23.

24,

25.

26.

27.

28.

29.

30.

31.

32

33.

34,

35.

36.

37.

38.

39.

40.

Tx8=__
Tx12=__
TxT=__
Tx1ll=__
Tx12=__
Txd=___
Tx2=__
Tx10=__
Tx10=__

7x10=

17 +7=
21+7 =

49 +7 =

49 +7 =
21+7=

17 +7 =

41.

42,

43.

44,

45,

46.

47.

48.

49,

50.

51.

56.

57.

58.

59.

60.

W+7=

7+7=

56 +7=

63+7=

2B+7=

42+7=

17+7=

35+7=

17+7=

14+7=

21+ 7=

63+7=

17+7=

10+7=

14+7=

14+7=

1+7=

56+7=

28+7=

56+7=




I know mulfiplication

and division facts for
the IZ times tfable

Check |
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Complete the I2 fimes fable calculations as quickly and as accurately as you can

1.

o

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

12x11=

12x12 =

12x8=

12x2=

12x11=

12x1=

12x7=

12 x10 =

12x9=

12x5=

12x12=

12x3=

12x4=

12x5=

12x6=

12x3=

12x8=

12 x 10 =

12x2=

12x9=

21.

22,

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34,

35.

36.

37.

38.

39.

40.

12x12=_
12x8=_
12x12=__
12x3=__
12x5=__
12x1=__
12x11=_
12x2=__
12x2=__
12x8=__
84+12=_
2+12=_
24+12=_
24+12=__
24+12=_
60+12=_
60+12=_
12+12=__
84+12=_

96 + 12 =

41.

42,

43.

44,

45,

46.

47.

48.

49,

50.

51,

52.

53.

54,

55.

56.

57.

58.

59.

60.

24 +12 =

12+ 12 =

144 + 12 =

132+ 12 =

144 + 12 =

120+ 12 =

48 + 12 =

84+12=

132+ 12 =

120+ 12 =

132 +12 =

24+ 12 =

72+ 12 =

60 + 12 =

84 +12 =

144 + 12 =

72+12 =

72+12 =

12+12 =

96+ 12 =




I know the multiplication
and division facts for all

times tables up fo I2 x IZ
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Complete the times table calculations as quickly and as accurafely as you can

1.

2.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

S5x12=

l0x3=

Tx10=

l1x8=

4x1=

4x3=

8x2=

6x 10 =

12x3=

Gx12=

l1x6=

11 x5=

9x9=

10x1=

Tx2=

6x2=

Ix5=

10x3=

5x10=

5x3=

21.

22,

23.

24,

25.

26.

27.

28.

29.

30.

31.

32

33.

34.

35.

36.

37.

38.

39.

40.

4x6=
2xX 4=

12x12 =

5x 10 =

12x2=

11 x 10 =

Tx5=

TXx6=

Tx71=

8x9=

90 + 10 =

5+T7=

108 =+ 9 =

45 +9 =

60 + 10 =

14+7=

50+ 10 =

22+11 =

108 + 9 =

56+ 7=

41,

42,

43.

44.

45,

46.

47,

48.

49,

50.

51.

25+5=

63 +7=

24+2=

12+4=

24 +4=

48+ 6 =

22+2=

25+5=

12+3=

120 + 12 =

9% +12=__
+d=__
30+3=_____
11+11=___
8+4=___

3B+3=

32+4=

84+ 12 =

28+ 4=




I can identify

Check |

equivalent

Check 2

fractions

Check 3

NN

oo [N

Pod | =t

P |

Label the fractions wall

Use the completed fraction wall to complete these equivalent fractions.

]
9

1 8
3 12 i 5

- 40 =
4 16 8
7 14 10 5

- 3 -

20 - 12
8 4

16




